Name:

Get a fidget spinner! Spin it.

I needed to spin

MathWorksheets.com
Week of November 9

time(s) to finish.

\.

\.

6+5-4-3 [ | [ 2less than 372 )
Make your own
equation.
—+4=__
\. \.
" Circle the three numbers f | [ How many odd numbers
whose sum equals 29. FFJ G L HLI are there between 25 and
HO?
0 5 1 M- J N
7 7 12

\. J

" Write the number that has
exactly 15 ones.

" What number is halfway
between 0 and 24?

" Emma has 24 nickels. How
much money is that?

\. W

32+Y4=

-
29+___ +22=62

" Double the number 4 three |
fimes.
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Spin again. I needed to spin time(s) to finish.
f ) [ Write an odd number. ) [ Circle the number thatis
7 9 largest.
+ L|. 1,800 1080
1,008
\ _J \
" Ava has a bowl. She puts 11 | [ | [ If you know )
nickels into the bowl. 8 10, 12, 4, _____, 18 83+ 21 =104
Gavin sees the bowl and 20. 22 Then what is 83 + 197
takes some nickels out. The ’
bowl now has 35 cents in it.
How many nickels did
Gavin take?
\
T x 11+ 11
2+ ____ =7
Y=
\\ J J J

" If you exchange 120 dimes |
for dollars, then how many
dollars would you get?

" At 1 p.m. today, Holly wil
not be able to use her
electronics for 3 hours. At
what time will she be able
to resume using her phone?

" Name the shape with four
sides and four angles.
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Week of November 9

Gavin just loved the old green truck. His
friends said it was ugly, but he didn't think so.
He had saved $576.46 from his summer jobs.
He asked the man how much he wanted for
the fruck. The man said he would sell it for
$474. If Gavin bought the truck, how much
of his savings would he have left?

Connor walked dogs for three of his
neighbors on Random Acts of Kindness Day.
He walked the Mathews' poodles for 25.5
minutes. He walked the Glenns' terrier for
36.3 minutes. He spent a total of 1.5 hours
walking dogs for the three families. How long
did he spend walking the Bartletts' German
shepherd?

Pam can't find her phone, so she is using an old fashioned map fo see how far away two

cities are. She measured that they are a little more than 9 centimeters apart. If the scale

says that 1 cm = 8 kilometers, then about what is the real distance?

Robot 1 said, "I have YYYYYYY robot cats."
Robot 2 said, "I have YYY robot cats.”

Robot cat said, "Each Y stands for three cats. We have lots of cats!"

How many more cats does Robot 1 have?
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Name:
Find 2 equations hidden in each box. Good luck!
14Uy
8?37 8 2764 + 5036 7267 + 2988

2503 + 1?8'4
7800 304

275 + 5903 10327 18972

Write 2 equations:

1
8-y

b -3
8-0 9.9
9.Ll 8-7 !
3x1 tH 1
5x5 9x8 O 59 9
OQx7 © 2x9 5x7

35 81 6 7xH

Write 2 equations:
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Week of November 9

30)600 U4) 352

8) 32 30)480

55)1320 24)672

U4y 396 30)1650

2)756 84)8uo0

50)900 2)72

What is the least common What is the least common What is the least common

mulfiple of 6 and 3? mulfiple of 5 and 10? mulfiple of 2 and 10?

triple 12 = Write the greatest possible Round 123 to the nearest
2-digit number without ten.

repeating any numbers.

Add the correct end punctuation for
this sentence.

How many cartwheels can you do

Circle the correctly spelled words. ’/_,/’7%?)‘\@
selebration, capeble, available "ﬁff WP

~—
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Peter likes to read. He
likes to read about
sports heroes. He
bought a book about
Spud Webb. Spud
Webb was only five feet
and five inches tall. He
was a very short for an
NBA player! The book
cost $3.50. Peter gave
the clerk $5. How much
change did he get back?

Alex bought a card for
his neighbor on Random
Acts of Kindness Day.

He thought she was

very lonely. The card
cost $2.72. He used a $5
bill fo pay the cost of

the card. How much
change did he get back?

Justin went to lunch

with his father. His father
ate fried chicken. Justin
ate fried chicken, too.
His father's lunch cost
$8.57. Justin's lunch cost
$6.72. How much did
their lunches cost in all?

Do you use AM. or PM. to
write 6:00 in the evening?

What is the value
of the BIG digit?

53,345

010

This is the look at one cube

that is turned around a few times.

6 6 9

5 |8 9 |° 2

This pattern can be folded into
the cube. Fillin the missing boxes.

2
0

6

and label the point F.

0
668,000

Locate where to put the number 672,000

-

688,000

Write the number for
four thousand, six
hundred thirty.
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Complete each analogy with the best word. Write the number with 3
Fo-o-T oo T T T e e ! ten-thousands and 5 ones.
School _ bee _ play ______ :
birds is to flock as

fish s o If0=8 then8+O= ___
science is to fair as

87
spelling is to - 11
school is to work as
vacation is fo

Write the fraction for 0.16.
g -4 = 20
+ 23
Color L. How many 8s are in 567 What is a good estimate for
10 12 times 4527

In the number 954,176, what

digit is in the ten-thousands
place?

Can you think of a five-letter word The month before me has
that has the vowel A in it? twenty-eight days. The
month after me has thirty
days. What month am I?

March

November
June
October
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What fraction of the
box is shaded?

If D = 8, then what does D +
6 equal?

Circle the even numbers.

What temperature is five
degrees below freezing in
Celsius?

78 68 us 65 Fill in the missing fraction.
4 105 69 89 1 2 n
38 107 59 42 8 8 ' — ' 8
5
10 7 | Thefactorsof 2are ___ 2 4
x 10 x 10

Circle the relative adverb.

This is the school where I went to
kindergarten.

List the first five multiples of 10.

Circle the relative adverb.
why, until, if, so

2[16

dcl

Circle the largest number.
802 837 869
824 883

Calculate the sum of 20, 35,
and 20.

6
1
+ 13

Make a pattern.
Start with 80.
Add 8.

Share 12 equally among 2.

Which number is greater: O4
or 0.39?

word furious.
peaceful, mild, angry, gentle

Circle the word that is a synonym for the
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Name:

1

1

1
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Name:

7000+070=o10707o=o8

Use the pieces above to help you fill in the runaway math puzzle.

N |+

+ | O+ D
= | 1l

3

In each pair, circle the word that is How many hours are in two
spelled correctly. days? Q7
smartist, smartest + 62

guard, gaurd
argument, arguement

Write the length in inches. Round 356,274 to the nearest
thousand.

LT
oy 2 3 4 5 6
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Name:
Make change. You can use $20, $10, $5, $1, 25¢, 10¢, 5¢, or 1¢.

Jack has $75.13. He has 6 bills and 12 coins. How?

MathWorksheets.com
Week of November 9

$20

QOO0O0O00OOO
OO

Jacob has $75.22. He has 7 bills and 6 coins. How?

OO0O00OO0

Emma has $37.19. She has 5 bills and 17 coins. How?
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Name:
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Week of November 9

Draw 3 pictures in the correct order. Use each of the clues so you will know what to draw.

ﬁi%

IDrow 1 of these 3 pictures.
\The picture is NOT in the correct spot.

'Draw 1 of these 3 pictures.
'The picture is NOT in the correct spot.

Draw the 3 pictures in the correct order:

*

I Draw 1 of these 3 pictures.
| The picture IS in the correct spot.

L e e d

I Draw 1 of these 3 pictures.
! . The picture IS in the correct spot.

1
I
1
1
I
1
1
-

How many tens are in the

The number 72 is more

You have a playdate in 120

number 3,5007 than the number 7 by how minutes. How many hours
much? is that?
Circle the better deal. 3x(7+3) Is 559 closer to 500 or
6007?

3 packs of Cool Squishies
for $5 (each Cool pack
comes with 6 squishies)

4 packs of Wacko Squishies

for $7 (each Wacko pack
comes with 2 squishies)

word root Viv can mean life

vivacious, vivid
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It was a sunny day in South Toledo Bend. Not a cloud was in sight. In fact, South Toledo
Bend had exactly 6 hours of sun for the day.

Vallonia had sunrise at 4:25 a.m. and sunset at 944 p.m. and also had a completely sunny
day. Amazing!

Which city had more sun for the day? How much more?

Connor is taking a 24-hour walk challenge. He is trying to stay awake for 24 hours and
plans to walk as far as he can. Each hour he plans to sit and rest for only 4 minutes. If he
is able to do this, how long will he spend walking and not resting during the 24 hours?

_hours and minutes
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Name:
" Unscramble these letters fo spell a two-digit number with two different digits. |
tte-ifiyhgf
uo-tixsfyr (64)
t-ethetwreny (23)

Fill in the missing numbers.

x7=22+34
x6 =19+
x12=20+52

.

N

" Write the number that has "Name the shape with " Write the number that is

angles.

exactly 6 tens. seven sides and seven one ten more than 5461.
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Name:
Find 2 equations hidden in each box. Good luck!

’ "W 10y
96 H+Q3 78

63
o BT L e
28+7 9+ 62 16 + 4

Write 2 equations:

103

iU 2x5 56

7 x7

Qx4
72 5y 7
54 9

5x3 8 36

Write 2 equations:

Ix 7

Write 2 equations:
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Name:

Fillin the missing numbers. How? The sum of the four surrounding numbers is in the center of each square.
Example:
8+H0+10+60 =18 10+1+40 +80 =131

1 6 4 Y

8 8 |+ M |t 131 [ 131 |

is the sum is the sum is the sum is the sum
| ones | |’rens | ten one ten

6 1 1 s —1 s

Fillin the missing numbers. How? The sum of the four surrounding numbers is in the center of each square.

1 8 6 6 8
1 ‘I ‘I 4 8 1 q 6
[fen] [fens] [ores] [fen] ones [fens]
— 8 —1 6 —1— 4 /T 8 /1 4
4 1 8 8 1 8
E'@ fen E'@ ones fen E'@
— 8 —T1T 9 —T1— b6 /T 6 /1 9 —
8 4 1 8 1 4
6 8 1 1 8
one one
Which number is two Add the correct end punctuation for
hundred sixty-nine? this sentence.
269 2060 962 France, Poland, and Germany
2609 helped America fight for

independence from England
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Name:

Fillin the missing numbers. How? The sum of the four surrounding numbers is in the center of each square.

Exactly one of the four numbers has to be one of these numbers: 2 tens, 3 tens, or 6 tens.

The other three numbers have to all be DIFFERENT and must be from these: 3 ones, 2 ones, 6

ones, 4 ones, or 1one.
= | = | o=
2| 30 [o| 29 |2 2 | y2 |

|’rens | |ones | |’rens | |ones | |ones |

29 37 LH 12

69 69 /1 3| HO

| = || E=

]
What is the homophone of this word? Which is larger, S or ﬁ ?

raze
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Name:

This puzzle has a large number in the middle, whichis the sum of the four numbers that surround it.
Example: Example:
84 +72+44+23=43 36+84+54 +29 =464

T TTT

84 72| 406 | 36| el |su

is ’rhe sum is the sum is the sum
23 4L 4L 29 J

Fillin the missing numbers. How? The sum of the four surrounding numbers is in the center of each square.
Exactly one of the four numbers has to be one of these numbers: 23, 29, or 21.

The other three numbers have to all be DIFFERENT and must be from these: 8.4, 7.2,
68,44, 54, or 3.6.

1.2 1.2
‘ ‘ either Y4 or 7.2 ‘ ‘ greater than 3.6 \

9| 482 | e 23| 422 45y | e

either Y4 or 3.6
less than 84 less than 29 greater than 54

st | 4ot 49.6 H3.6 (¢ H9.6

either §4 or 4.4 opd less than 7.2
84
odd greater than 3.6

2 | uzy 456 | o8

I e T e i i o B

either 3.6 or 6.8 odd even

Sameple:
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Name:

Fillin the missing numbers. How? The sum of the four surrounding numbers is in the center of each square.
Exactly one of the four numbers has to be one of these numbers: 21, 18, or 19.

The other three numbers have to all be DIFFERENT and must be from these: 8.6, 4.8,
1.2, 3.2, 94, or 5.6.

2.6 _‘7 2.6

o 362 |32 384

94

-
%
%
|

odd

40.2 40.2 | &

evyen less than 5.6

©
o
o

18 21 94

+
i

odd

1.6 43.8 (48| 33.6 37.2

less than 19 greater{than 8.6 en either 18 or 94

even less than 9.4

1.8 40.8 28.2 | 32

en either 4 or 18 even greater|than 3.2

L8
+
K

+
1

either 5.6 or 19 less than 18 odd odd

29 27.2 35.4 28.2

opd even greater than 12 less than 8.6
less than 19 odd odd

32.6 30.6

eyen greater than 12 opd

+
)

|

TS

ofd

E
Fr

less than 19 greater than 12
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Where can
I get more of this
great stuff?

More things for

IS ) the classroom!

More
science\.
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” Take The Boring

. Out Of Homework!/ <

L("Dr. Programmer” a2+,

: ! X - challenges kids..
Kids want choices — ge

for homework.
“Take It Home” books
have fun graphics and
challenging puzzles and
problems for older kids.

1 -y

Homewark
will never be L
ihe samel 1A




